REPLACEMENT PARTS/ORDER FORM Doc #TGO1SS

CFM
TGO STAINLESS GAS SMOKER 36"'A032142

Hardware Bags:

1/4-20 x 1/2" SS Bolts (3) 1/4-20 x 3/8° Bolts (2) _
psnno: AZ001172 @HMe Mounting Plate (1) Ir}struchonal
1/4-20 x 5/8” SS Bolts (16) (Door Handle) Video (2004)
pant no: AZOO1173 part no: AZO01135 AZ001154
@ 10-24 x 5/8" SS Bolts (3) @ Heat Indicator Nameplate (1)
10-24 SS Nuts (3) Ptf,r;) ')'353,, ’(12‘)2
10-24 SS Lock Washers (3) Oarno
pant no: AZ001174 ®HVR S-Hook (1) and
5/16-18 x 3/4" SS Bolts (8) Zip Tie (1) Damper

5/16-18 SS Nuts (8) pannozAZ00114S Plate (3)

5/16 SS Lock Washers (8) O AZ001168
part no: AZOO17S @

Cabinet
Assembly
AZ001166
Cooking Grid (4) Carry
AZ001107 Handle (2)
AZ001169
Water Bowl (1)
AZ001111

N

\u-y’

Wood Chip
Box Lid (1)
AZ001164

Wood Chip Wood Chip Z P Leg (4)
Box (1) Box Stand NG y AZ001170
AZ001163 AZ001149 y .
w 4
éi’ NOTE: One leg
contains a hole
(AZ0OT1T7T)
: LP tank and
oot icator |y Q@ S ke
AZ001147 E::e':‘nb;; hardwood
Door Handle (1) W 0 AZ001167 not included.
AZ001110 -

iBuyGrillParts.com 888-634-4289

Rev. 4/23/10 20f2



CFM

REPLACEMENT PARTS/ORDER FORM

Doc # TGO1SS

TGO STAINLESS GAS SMOKER 36" 'A032142

v |PART DESCRIPTION QTY 36" Us $ CDN $
HARDWARE BAG A 1 AZ001172
HARDWARE BAG B 1 AZ001173
HARDWARE BAG C 1 AZ001175
HARDWARE BAG D 1 AZ001135
HEAT INDICATOR + PUSH NUTS 1 AZ001147
S-HOOK & ZIP TIE (SHORT) FOR HVR 1 AZ001129
PUSH NUTS (SINGLE) 1 AMO000902
COOKING GRID 4 AZ001107
TRACK ASSY 2 AZ001182
WATER BOWL 1 AZ001111
WOOD CHIP BOX 1 AZ001163
WOOQOD CHIP BOX LID (SEND WITH BOX) 1 AZ001164
WOOD CHIP BOX STAND 1 AZ001149
DOOR HANDLE 1 AZ001110
LEG 4 AZ001170
BURNER;CHAMBER.ASSY: 1 AZ001167

IGNITOR ELECTRODE ASSY 1 AZ001158
BRASS BURNER 1 AZ001155
GASKET 1 AZ001156
VENTURI 1 AZ001157
SS BURNER CHAMBER (BARE) 1 AZ001176
HVR 1 AZ001165
ROTARY IGNITOR 1 ANO000305
IGNITOR KNOB 1 AZ000604
CONTROL KNOB 1 AZ001510
CONTROL PANEL NAMEPLATE 1 AZ001136
CARRY HANDLE 2 AZ001169
CABINET ASSY 1 AZ001166
DAMPER PLATE 3 AZ001168
VIDEO 1 AZ001154

* Cannot be converted.

Rev. 4/23/10

* Send entire Cabinet Assy if door does not fit/work

10f2





